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1) TRADE THEORY

Question No. 1/ Question ID 13

4 Uit SRt SR & W AU aTsfeT & fara JHMIR IR 82
(A) O 8 (Correct Alternative)
8 (Correct Alternative)

4 (Chosen Option)
4 (Chosen Option)
12
12

(D)O 6
6

(B) O
(C)O

How many parallel paths in duplex lap winding of a 4 pole DC generator?

Marks: 2.00

Question No. 2 / Question ID 174
Which type of testing of winding is illustrated as shown in the figure?

ST P fomr & fecaman man 8, arEfeT o1 5 R &1 uierur g=iiar T 872

Marks: 2.00

L . I

(A) O Short circuit test
¢ Hfdhe exe
(B) O Voltage drop test
eSSl URI&T
(C) O Resistance test (Correct Alternative)
¢ UI&IUT (Correct Alternative)
(D) O Polarity test (Chosen Option)
gadr ¢ (Chosen Option)

Question No. 3/ Question ID 375
Which circuit, the limit switches are used?

g gfdbe & forfie fag o1 Su far Siar g2

(A) O Domestic power circuits

(B) O Battery Charging Circuit (Chosen Option)
' (Chosen Option)
(C) O Lift circuits (Correct Alternative)
e (Correct Alternative)
(D) O Street lighting
HSP UDIR

Marks: 2.00




Question No. 4 / Question ID 155 Marks: 2.00
Which device is used to test stator winding short and open fault?
IR AFET TIE MR ST Wiee BT URIE IR & AT fohd ITHRN T ITIANT T STl 672
(A) O Digital multimeter
f&fored AciHier
(B) O Internal Growler (Correct Alternative)
' AT3 X (Correct Alternative)
(C) O Tong Tester
RRCNAED
(D) O External Growler (Chosen Option)
STER] AR (Chosen Option)

Question No. 5/ Question ID 92 Marks: 2.00
Which type of DC motor is used for sudden application of heavy loads?
YR YR & 3AME HIRD I & o {5 TR &1 St AieR &1 SuanT fasa Sirdn g2
(A) O Differential compound motor
favge® difie dicd
(B) O Series motor (Chosen Option)
ot AR (Chosen Option)
(C) O Shunt motor
Tl Hle’
(D) O Cumulative compound motor (Correct Alternative)

T} Giftre e (Correct Alternative)

Question No. 6 / Question ID 382 Marks: 2.00
Which device is controling the operatlons in the sequential control systems?
3 THe =0 yunferdl & uRare & & A1 SUSHR0T Hafd Bl 872
(A) O Timer (Correct Alternative) (Chosen Option)
CITHY (Correct Alternative) (Chosen Option)
(B) O Relays

(C) O Control transformer

A

(D) O Contactor
ThISTh

Question No. 7 / Question ID 457 Marks: 2.00

What is the full form of VVVFD?

VVVFD &1 Juf U 37 82

(A) O Variable Value Voltage Frequency Drive
Variable Value Voltage Frequency Drive

(B) O Voltage Value Variable Frequency Drive
Voltage Value Variable Frequency Drive

(C) O Variable Voltage Variable Frequency Drive (Correct Alternative) (Chosen Option)
Variable Voltage Variable Frequency Drive (Correct Alternative) (Chosen Option)

(D) O Value Variable Voltage and Frequency Drive
Value Variable Voltage and Frequency Drive

Question No. 8 / Question ID 293 Marks: 2.00




Which material is used for the damper winding?
SR IRRFET & fore forey wmelt &1 SuaT fasa Siran 82
(A) O Castiron bar
PR 3R dRR
(B) O Copper bar (Correct Alternative) (Chosen Option)
didl R (Correct Alternative) (Chosen Option)
(C) O Stainless steel bar
LAY EId IR

(D) O Silicon steel bar
IRINCAERENIEIN

Question No. 9 / Question ID 32 Marks: 2.00
What is the purpose of slot marked as ‘X’ as shown in the figure?

o1 fop o A femmn man 8, ') & ® U H Rifgd wile &1 Sexa | g?

\;’L—T: \;’L—T s

(A) O To make air circulation

IR UREER S & forg
(B) O For lubrication purpose

e e & forg
(C) O For easy removal from shaft

QMU I T W g2 & forg
(D) O To fix the key way (Correct Alternative) (Chosen Option)

BT S FHA B ﬁ'l'{ (Correct Alternative) (Chosen Option)

Question No. 10 / Question ID 240 Marks: 2.00
What is the name of the AC single phase motor as shown in the diagram?

o o g2t U AC RiveT thol Hiek &1 914 w1 272




%
a
i
%
a
(A) O Shaded pole motor
TSS UId HIR
(B) O Permanent capacitor motor (Chosen Option)
YT FTRA Ale} (Chosen Option)
(C) O Universal motor
(D) O Repulsion motor (Correct Alternative)
Hlex (Correct Alternative)
Question No. 11 / Question ID 317 Marks: 2.00
Why negative feedback is required in amplifier circuits?
" THRIAD BISdd B ATIHdl HI 572

(A) O To reduce the distortion (Correct Alternative)
ﬁ'ct?ﬁ DI HH B & forg (Correct Alternative)

(B) O To increase the output voltage gain
3I3cYc diecs dgMH o fag

(C) O To increase the output current gain (Chosen Option)
3I3cYc YRT AH T gfg H & felU (Chosen Option)

(D) O To increase the amplification factor

U3dHH HRE P d¢H & folg

Question No. 12 / Question ID 502 Marks: 2.00




Which type of line insulator is used for terminating on corner post?
AT A R B & T & oY {59 YR & a1z g-gaiex BT IUaT far S g2

(A) O Suspension insulator

(B) O Shackle insulator (Correct Alternative)
(Correct Alternative)
(C) O Strain insulator
(D) O Pininsulator (Chosen Option)
: (Chosen Option)

Question No. 13 / Question ID 439 Marks: 2.00
What is the function of IGBT in AC drive?
THl 913 # IGBT &1 BT 1 82
(A) O Stabilize the output voltage from the rectifier
AMFCHRR T 3M3TYC dlecdl Pl RR B
(B) O Controls the power delivered to the motor (Correct Alternative) (Chosen Option)
A 1 &t TI% wifed &t e swar % (Correct Alternative) (Chosen Option)
(C) O Converts incoming A.C into D.C
SIS A.C ®I D.C ¥ uRafdd Fal g
(D) O Smoothening incoming A.C supply
3T Tl A.C 3MTYfd &1 Y HRAT

Question No. 14 / Question ID 246 Marks: 2.00
Which formula is used to calculate EMF/phase in a ideal alternator?
TH TG 3Heex-eR H EMF / TSl Bi IT0HT & & [org foht 31 &1 ST foarn i g2
(A) O E=4.44 FT (Correct Alternative)
E =4.44 FT (Correct Alternative)

(B) O © FT
E ooz onl &
4.44
FT
= _ 9FT
4.44
€O ¢ FT .
E = ————— (Chosen Option)
2.22
¢ FT .
E = ———— (Chosen Option)
2.22
(D)O E =2.22q> FT
E=222 0 FT
Question No. 15/ Question ID 179 Marks: 2.00

What is the synchronous speed of an A.C 3 phase induction motor having 6 poles at a frequency of 50
Hertz?

50 ¢S B! 3R TR 6 Yal aTell Teh A.C 3 Trol TRUT IR &1 JedabIierd T 3T 872
(A) O 800 rpm (Chosen Option)
800 rpm (Chosen Option)




(B) O 1200 rpm
1200 rpm

(C) O 1440 rpm
1440 rpm

(D) O 1000 rpm (Correct Alternative)
1000 rpm (Correct Alternative)

Question No. 16 / Question ID 441 Marks: 2.00

Which is proportional to the torque in D.C motor?
D.C Hiex # gargul & HuTd o1 91 82
(A) O Backe.m.f

o 3.UH.UP.
(B) O Armature current (Correct Alternative) (Chosen Option)

< (Correct Alternative) (Chosen Option)

(C) O Field current

Hits URT
(D) O Terminal voltage

[ BT

Question No. 17 / Question ID 389 Marks: 2.00
Which relay is hold their contacts in the position after power is cutoff?

B a1 R forelt de w1 & a1 o Tuw! o1 It Rufa & w87
(A) O Voltage relay
e Rl

(B) O Read relay

(C) O Current relay (Chosen Option)
T R (Chosen Option)

(D) O Latching relay (Correct Alternative)
dfei (Correct Alternative)

Question No. 18 / Question ID 253 Marks: 2.00
What is the use of synchroscope?
RIIDTT BT ITINT T 82
(A) O Adjust the output voltage
3{T3TYC el ol AR B

(B) O Adjust the phase sequence

Tl 3JehH
(C) O Adjust the supply frequency (Chosen Option)

B (Chosen Option)
(D) O Indicate the correct instant for paralleling (Correct Alternative)

THTAT & forg I8! g3 Wdhd ¢ (Correct Alternative)

Question No. 19 / Question ID 236 Marks: 2.00
What is the name of the speed control method of AC single phase motor as shown in the diagram?

fort & femame SR AC RiTTa Tt AR bt 7ifa =T fafd 1 o - 82




| ELMFTMET 4

ELNY 14

(A) O Tapped field method (Correct Alternative)
wics faf¥ (Correct Alternative)
(B) O Centrifugal switch method
[« e fafa
(C) O Field diverter method
Wies SacR fafy
(D) O Voltage control method (Chosen Option)
=01 fafer (Chosen Option)

Question No. 20 / Question ID 275 Marks: 2.00
When all the 3 lamps become dark in the dark lamp method of parallel operation of two alternators?
&l 3feexeR] & FHI=R YETe &1 31 o fafd § §a diFl o 8T 81 SId 82
(A) O Terminal voltages are equal
T diees IR §

(B) O Voltage and frequency are equal (Correct Alternative) (Chosen Option)
drees 3R anqﬁr aRTeR % (Correct Alternative) (Chosen Option)

(C) O Voltage and power rating are equal
dleesl 3R UTaR T RIR §

(D) O Frequency are same in both alternator

ST 3feexex § 3gfl IHM Bt §

Question No. 21 / Question ID 64 Marks: 2.00
What is the name of the speed control method of DC motor as shown in the figure?

o # g2is 75 DC Aex Bt Tfa F=ror fafdr o1 =77 o 82
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(A) O Field diverter method
Wics SHacR Y

(B) O Field tapping method
Wics iU fafy

(C) O Armature diverter method (Correct Alternative) (Chosen Option)
sTgacy fafdr (Correct Alternative) (Chosen Option)

(D) O Voltage control method
e o fafy

Question No. 22 / Question ID 464 Marks: 2.00
What is the effect in internal resistance of a discharged cell?
T S 9 & iR UfeRie § o1 guTd gidl 872
(A) O Decrease
hH
(B) O Increase (Correct Alternative) (Chosen Option)
3ferwd (Correct Alternative) (Chosen Option)
(C) O Remain same
T 51 §
(D) © Becomes zero

RISIHISIRIN

Question No. 23 / Question ID 18 Marks: 2.00
Why the armature resistance of a D.C generator is kept very low?
D.C SRex &1 SR UfRIY §gd HH &1 9T Sl 87
(A) O Helps to solve Boolean Algebra
gferg SISO &1 8 3 | Hag HRdl §
(B) O To reduce the armature current
S{THER HRC DI HH HRA & AT
(C) O To reduce the armature voltage drop (Correct Alternative) (Chosen Option)

TR giees G'T'Cr cake e kg ﬁ'E (Correct Alternative) (Chosen Option)




(D) O To reduce the temperature of armature

TR & YA Bl HH B & forU

Question No. 24 / Question ID 475 Marks: 2.00
Calculate the voltage and ampere/hour, if four cells rated as 1.5 V and 8 A.H are in parallel?

Jieed 3R TR / €< &1 0T %Y, Al TR H 9 IR 9 1.5 V R 8 AH & U H X &1 75 572

(A) O 1.5V and 32 AH (Correct Alternative) (Chosen Option)
1.5V and 32 AH (Correct Alternative) (Chosen Option)
(B) O 6Vand32AH
6 V and 32 AH

(C) O 6Vand8AH
6 Vand 8 AH

(D) O 3V and 16 AH
3V and 16 AH

Question No. 25 / Question ID 62 Marks: 2.00
What is the formula to calculate the back emf of a D.C motor?
D.C AR & 9% emf DI TTUMT & &1 I3 &7 g2
(A) O Ep=V+I;R, Volts
E, =V +1; R, Volts
(B) O Ep=Vxl; R, Volts (Chosen Option)
Ep =V x I R, Volts (Chosen Option)
(C) O Ep=V-I,; R, Volts (Correct Alternative)
Ep, =V -1, R, Volts (Correct Alternative)
©) O Et] =%"u"ﬂ|t5
ara

v
Etl =—Volis
1aR3

Question No. 26 / Question ID 212 Marks: 2.00

Which schedule of maintenance the resistance of earth connection of an induction motor is to be
examined?

TP TIHRM HIeR & 3 HaRMA & UfaRIY B Wi o R@Ta S & &1 oHT 82
(A) O Monthly

(B) O Yearly (Correct Alternative)
CILEG (Correct Alternative)

(C) O Daily
FEE]

(D) O Weekly (Chosen Option)
(Chosen Option)

Question No. 27 / Question ID 324 Marks: 2.00
Why a feedback network is used in the oscillator as shown in the circuit?

o1 fob Gfche # fezamar ma1 7, 3iRidex & Bisded Jedd BT SUTNT i fhar ST 87




| ||
EL2882

1 I
EL2882

(A) O To cancel second harmonic distortion
IS fGE a0 &1 g I3 & o
(B) O To phase shift the signal by 60°
60° T Tl I HA & forw
(C) O To cancel noise distortion (Chosen Option)

IR fa=YU B g HH & 1AW (Chosen Option)

(D) O To phase shift the signal by 180° (Correct Alternative)
Rrra 31 180° T e fR1oe H31 & oW (Correct Alternative)

Question No. 28 / Question ID 298 Marks: 2.00
Which is a active component?
U Tiohd gedh B AT 82
(A) O Transistor (Correct Alternative) (Chosen Option)
' (Correct Alternative) (Chosen Option)

(B) O Inductor

YRY ATl
(C) O Resistor

BTl




(D) O Capacitor
TR

Question No. 29 / Question ID 162 Marks: 2.00
Which instrument is used to measure insulation resistance of a 3 phase induction motor?
3 HT RO HIeR & SYARH UfeRIe &1 AU & e o IuahRur &1 IuanT forar Sran 87
(A) O Shunt type ohmmeter
Tjc T8y SR

(B) O Series type ohmmeter
Ul YR

(C) O Multimeter (Chosen Option)
e HTeR (Chosen Option)

(D) O Megger (Correct Alternative)
R (Correct Alternative)

Question No. 30 / Question ID 343 Marks: 2.00
Why most of the semi conductor devices are made by silicon compared to germanium?
SHTH & T | SifwTRT siefarad IumRu RifdedH gRT o 91 971d 872
(A) O High current carrying capacity

Jd YR o O b &HT
(B) O High barrier voltage (Correct Alternative) (Chosen Option)
I 14T diees (Correct Alternative) (Chosen Option)
(C) O High resistance range
I TRy et
(D) O High thermal conductivity
I AU Arerehdl

Question No. 31 / Question ID 326 Marks: 2.00

What is the main function of Uni Junction Transistor (UJT)?
Tt SR ¢ifReR (UJT) &1 3 &1 &1 872
(A) O Relaxation oscillator (Correct Alternative)

frawRE eifdreer (Correct Alternative)
(B) O Microphone input device (Chosen Option)

W%GT'S’H (Chosen Option)

(C) O Loud speaker amplifier

A3 Wi THATHIR

(D) O Broadcast transmitter

TR TiaHTeR

Question No. 32 / Question ID 368 Marks: 2.00
What is the name of the wiring accessory used in control panel wiring as shown in the figure?

fort o feamy U =01 O9at arafT & vgad araieT S8 SUSHRUT BT A1 H1 872




(A) O DIN rails (Correct Alternative)
CIREG] (Correct Alternative)
(B) O Grommets (Chosen Option)
(Chosen Option)

(C) O Race ways
G 9

D)O G chénnel
St o

Question No. 33 / Question ID 517 Marks: 2.00
What is the name of the substation that all equipment of substation is installed within the station building?

I T BT 19 1 § fores qaft Iuaor ©xH Haq & Hfiar Rifid farg 7 g7
(A) O Outdoor substation

3T3CER e WA
(B) O Indoor substation (Correct Alternative)

3_-1@? LERSRIE | (Correct Alternative)
(C) O Plinth mounted substation (Chosen Option)

Ry AT T (Chosen Option)
(D) O Pole mounted substatlon

Hldds {-IGNC-QI"I

Question No. 34 / Question ID 82 Marks: 2.00

Which material is used for starting resistance of DC starters?
SRt wIeH & UieRTY Bl L= B o 1o fooey Aredt 1 IuinT foa S g2
(A) O Eureka (Correct Alternative)

(Correct Alternative)
(B) O Manganin (Chosen Option)

(Chosen Option)

(C) O Constantine

(D) O Nichrome

Question No. 35/ Question ID 152 Marks: 2.00
How the voltage is recelved in the rotor of induction motor?
IR HIex & e H dlecs] By UTd §iell 872

(A) O Direct connection to rotor from supply

T e o7 e A




(B) O Direct connection from stator
WeR Y Yl ey
(C) O By the transformer action of stator and rotor (Correct Alternative) (Chosen Option)
3R X BT g‘mtmﬁ'\r T gRT (Correct Alternative) (Chosen Option)
(D) O Due to back emf produced in stator
XX ¥ IAMEd 9 STHTH & HRUI

Question No. 36 / Question ID 78 Marks: 2.00
Which type of D.C motor is used for constant speed drives?
%Y IR Pt D.C Hicx HT IUTNT FRR 71 S35 B & forg faram Sran 82
(A) O leferentlal Iong shunt compound motor
AT T HUSS J-IIC*{
(B) O Differential short shunt oompound motor

fewRa Oé gic Hu"ds Al
(C) O DC series motor
S} guft

(D) O DC shunt motor (Correct Alternative) (Chosen Option)
/e Hiex (Correct Alternative) (Chosen Option)

Question No. 37 / Question ID 27 Marks: 2.00
What is the property of wave winding in D.C generator?
D.C SRex H A arefeT &t faviar &1 g2
(A) O High current high voltage

3= YRI I dlecal
(B) O Low current low voltage (Chosen Option)
HH YRT HH diecs (Chosen Option)
(C) O Low current high voltage (Correct Alternative)
HH YRT 3= dlecs (Correct Alternative)
(D) O High current low voltage
3 YRT HH dlecl

Question No. 38 / Question ID 140 Marks: 2.00
What is the phase displacement between winding in 3 phase motor?

3 HA1 AR B arsfeT & o9 SHar fawii &1 g2
(A) O 180°
180°
(B) O 120° (Correct Alternative)
120° (Correct Alternative)
(C) O 90°
90°
(D) O 360° (Chosen Option)
360° (Chosen Option)

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 527 Marks: 2.00
What is the unit of strain?

fagpfa &1 so1s 182




(A) O Kg/ecm?
Kg/cm2
(B) O Newton/metre?

Newton/metre?

(C) O Metre
Metre

(D) O No unit (Correct Alternative) (Chosen Option)
No unit (Correct Alternative) (Chosen Option)

Question No. 2 / Question ID 524 Marks: 2.00
What is the formula for (a-b)2?
(a-b)? BT I T §?
(A) O a?-2ab-b?
a’ - 2ab - b?
(B) O a?-2ab + b2 (Correct Alternative) (Chosen Option)
a - 2ab + b2 (Correct Alternative) (Chosen Option)
(C) O -a?-2ab-b?
-a2 - 2ab - b2
(D) O a2+ 2ab + b?
a’ + 2ab + b?
Question No. 3 / Question ID 523 Marks: 2.00
What is the expanded form of (a+b)2?
(a+b)? T faTaiRd ¥U &1 872
(A) O a2 - 2ab + b2 (Chosen Option)
a? - 2ab + b? (Chosen Option)
(B) O a?+2ab - b?
a’ + 2ab - b?
(C) O a2+ 2ab + b2 (Correct Alternative)
a + 2ab + b? (Correct Alternative)
(D) O -a2-2ab + b2
-a® - 2ab + b?
Question No. 4 / Question ID 532 Marks: 2.00
How the years is denoted in simple interest calculations?
TR TS & AT B Y AT STl 62
AO T
r
(B) O n (Correct Alternative) (Chosen Option)
n (Correct Alternative) (Chosen Option)
CoP
P
(D) O :
Question No. 5/ Question ID 521 Marks: 2.00




What is the formula for a™x a"?

a™ x a" & fore wrdar & 82
(A) O gmn

m-n

(B) O

M*N (Correct Alternative)
mM*N (Correct Alternative)
mn (

€) O Chosen Option)
MmN (Chosen Option)

m

(D) O

55 0 0 e o

a
am

Question No. 6 / Question ID 534 Marks: 2.00
What is the name of a booklet, the rates of various terms are indicated?
D IH-T TSR] &R} b ST B! THIRIT Bl 872
(A) O Price tag

(B) O Price bank
HiRTTd
(C) O Price bunch
3 &g (PraRe)
(D) O Price catalogue (Correct Alternative) (Chosen Option)
faumT (Correct Alternative) (Chosen Option)

3) ENGINEERING DRAWING

Question No. 1 / Question ID 547 Marks: 2.00
Which is protective device?
RETHD IUBRU DI T §?
(A) O Magnet
e

(B) O Capacitor
HURT

(C) O Resistor
IRER

(D) O Fuse (Correct Alternative) (Chosen Option)
WJol (Correct Alternative) (Chosen Option)

Question No. 2 / Question ID 535 Marks: 2.00
Which device is used to start and stop a motor?

HIeR B A1 3R s B & Y [T IuHR1 HT I9ANT foham e g7
A O Rotor

(B) O Slipring
g R

(C) O Stator
TR

(D) O Starter (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)




Question No. 3 / Question ID 544
Which of the following is AC ammeter?

fofad & ¥ &9 AC THIR 872
(A) O

(B) O
(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

(C) O

(D) O

Marks: 2.00




Question No. 4 / Question ID 545
Which is a symbol of DC motor?

P T DC HIeR BT Udid 82
(A) O

(B) O

(C)O

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

Marks: 2.00




(D) O

Question No. 5/ Question ID 536 Marks: 2.00
Which part regulates the heat in automatic iron?

B T U Xiferd arg o i &t e swrar 2
(A) O Heating elgment

(B) O Asbestos sheet

(C) O Thermostatic switch (Correct Alternative) (Chosen Option)
TSk (Correct Alternative) (Chosen Option)

(D) O Pressure plate
IR Wie

Question No. 6 / Question ID 554 Marks: 2.00
Which is ball peen hammer?

§id U 8FR S 91872
(A) O




(B) O
(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

(€)O

(D) O

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 795 Marks: 2.00
The activity of setting up a business or businesses, taking on financial risk in the hope of profit is called

ngwmmmﬁaﬁu@amﬁ,mnﬁ&mﬁﬁ?ﬂumwﬁﬁnﬁﬁﬁﬁ G|
SIGL
(A) O Entrepreneurship (Correct Alternative)
' (Correct Alternative)
(B) O Sales executive

(C) © Merchant
e




(D) O Bank manager (Chosen Option)
' (Chosen Option)

Question No. 2 / Question ID 574

Complete the sentence with suitable describing words
There is a playground near our house.

Bugﬁaam%ﬂaﬁsQﬁﬁT@%ﬂ&qqgnﬁi|
There is a playground near our house.
(A) O beautiful (Chosen Option)
beautiful (Chosen Option)
(B) O big (Correct Alternative)
big (Correct Alternative)
(C) O spacious
spacious

(D) O good
good

Marks: 2.00

Question No. 3 / Question ID 787
are at the centre of any business.
fopalt ot oo & S A A1 B
(A) O Customers (Correct Alternative)
HICHR (Correct Alternative)
(B) O Bank loan (Chosen Option)
3 a (Chosen Option)
(C) O Working capital
31 Bided

(D) O Licer]ce

Marks: 2.00

Question No. 4 / Question ID 723
What will keep evolving there by making jobs undergo changes?

T o e gl <o fored Al § ufadH smem?

(A) O Technology (Correct Alternative) (Chosen Option)
T (Correct Alternative) (Chosen Option)
(B) O Investment
ga%cHe

(C) O Workforce
JHHIY

(D) O Time
cIRH

Marks: 2.00

Question No. 5/ Question ID 575
Complete the sentence with suitable describing words.

There are apartments in my neighbourhood.
JUY aUHTHSD Rsal U T TR B |
There are apartments in my neighbourhood.
(A) O expensive

expensive
(B) O good

good

Marks: 2.00




(C) O beautiful (Chosen Option)
beautiful (Chosen Option)

(D) O spacious (Correct Alternative)
spacious (Correct Alternative)

Question No. 6 / Question ID 684 Marks: 2.00
What is the standard way in which computers connected wireless?
HCR! DI AR RIPb Y Hde B P AFD I ol 67
(A) O ISP

ISP
(B) O Wi-Fi (Correct Alternative)
Wi-Fi (Correct Alternative)
(C) © WAN (Chosen Option)
WAN (Chosen Option)
(D) O LAN
LAN

Question No. 7 / Question ID 734 Marks: 2.00
is a code of behaviour that is based on respect, values and professionalism.

IR &1 U IS § Sl M, YUl 3R e UR 3Rd g |
(A) O Education
fRrem
(B) O Workplace etiquette (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

(C) O Experience
3{JHd

(D) O Business
qadrg

Question No. 8 / Question ID 690 Marks: 2.00
Full form of GPS is
GPS &1 %d Bid g
(A) O Globe Pointing System (Chosen Option)
Globe Pointing System (Chosen Option)
(B) O Great Polar System
Great Polar System
(C) O Global Positioning System (Correct Alternative)
Global Positioning System (Correct Alternative)

(D) O Global Planning System
Global Planning System

Question No. 9 / Question ID 635 Marks: 2.00
Which is a regular, non- APP based Gig economy job opportunity?

T I, TIR-APP 3MTRd fRT SBTHT STd BT AR HIH T 82
(A) O %Vji%gy

(B) O Uber
[SLSRS
(C) O Home catering (Correct Alternative)
(Correct Alternative)




(D) O Dunzo (Chosen Option)
(Chosen Option)

Question No. 10 / Question ID 594 Marks: 2.00
The word 'resume' comes from French and means
IH' e Prd HINT I 3T § 3R 3TPT 3 g
(A) O placement
ISEEG
(B) O experience (Chosen Option)
31JHd (Chosen Option)
(C) O summary (Correct Alternative)
T&T (Correct Alternative)

(D) O education
fRrem

Question No. 11 / Question ID 607 Marks: 2.00
What are some advantages of informal communication at the workplace?
TN TR STHIHA HRIAGI & 1 ATH 52

A) O Helps people work together better (Correct Alternative) (Chosen Option)

K3l Th gIY fraer aﬂﬁ? ST A BTH B A Haa et % (Correct Alternative) (Chosen
Option)
(B) O Makes things more official at work
BRI IR Al B 3R 1A SMfISRS ST &
(C) O Creates a strict environment at work
IR & qTaTaRol ST 8
(D) O Makes people talk less

[ ) HH o1 B4 ST §

Question No. 12 / Question ID 659 Marks: 2.00
What type of resources one can find in the Skill India Digital Platform?
Rpa sfear fefoied wew & fod yeR & dared i Jad 82
(A) O Financial services and government schemes
WISARIA Add 3R TaHHC Wi
(B) O Only eBooks and reading materials

Had Jxad AR AT AeRaa
(C) O Only job listings
Had A1 faRe

(D) O Courses, skill centers job opportunities, and more (Correct Alternative) (Chosen Option)
T, oig arqﬁﬁ'c“r 3R §§d $ (Correct Alternative) (Chosen Option)

Question No. 13 / Question ID 610 Marks: 2.00
What is workplace etiquette?

"SRR TR RIFER (TP e) w1 82

(A) O Gossiping
TR

(B) O Casual behaviour with colleagues
[ & T ST (B o31d) HFTER
(C) O Everyday manners outside of work

BT & JT8R Ao & RIPER




(D) O Proper behaviour and workplace professionalism (Correct Alternative) (Chosen Option)

3fd sgasR 3R FrIRE ATTHTRIG AT (Iﬂ'a?\’l:lﬁ?q) (Correct Alternative) (Chosen Option)

Question No. 14 / Question ID 678 Marks: 2.00
Which one is a web browser?
39 STSTR B °1 52
(A) O Outlook express
ST TR
B) O Hgt mail

(C) O Internet explorer (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(D) O Face book

Question No. 15 / Question ID 640 Marks: 2.00

When a person joined a new company, he may be nervous using digital tablets provided at work. That
time he shall

Ve IS oafarT ol 18 bul § Tfret €l B, Y I8 PRIRIT TR IUATsy HRMU 7Y f3Reet 2ode &1 Iuam
FA W GoRT ohdl 5| 39 IHT I8
(A) O Keep an open mind and ask his coworkers to teach him. (Correct Alternative) (Chosen
Option)
3T fGHTT eIl ¥ dhY 3R 3 FHIgPd A IQ @ & o wgm (Correct Alternative)
(Chosen Option)
(B) O Ask his coworkers to do all the digital work.
3T Diged I Tt fSfored &1 H & de
(C) O Quit his job.
g AIPps1 BIg M
(D) O Complain to his manager.

I RIeprad s

Question No. 16 / Question ID 742 Marks: 2.00
Which is a good way to handle when some of your team member made a mistake?
S 3O S & [hal T = P Tad! &1 81 dl 3 FHIE BT DI AT ST AT 872
A) O Blame the person who did the mistake (Chosen Option)

fad B GIY o1 foRI= Tt &t %’ Chosen Option)
B) O Dlscuss and find a way to solve it (Correct Alternative)
bl BT 3R IPT HHTYUTT gl (Correct Alternative)
(C) O Wait for someone else to solve it
A & fore fheft 3iR &1 auiR AT
(D) O Get angry and scold the team
B O 3R &1 &1 STel

Question No. 17 / Question ID 612 Marks: 2.00
One of the good workplace skills is
3 PR Bl H A TH §
(A) O Not reaching office on time.
g WR by gl gga-
(B) O Speak lauder in phone.
B IR Sl 3TaTel | §Td DAl




(C) O Maintain a clean workspace. (Correct Alternative) (Chosen Option)
P AT- =Y YT (Correct Alternative) (Chosen Option)
(D) O Tap repeatedly on the desk.
S IR IR-IR ¢ BT

Question No. 18 / Question ID 649 Marks: 2.00
How can you become as self-employed?
3T WITR HY T Ghd 872
(A) O Thinking about to become as self-employed

W-NSR &4 o IR H g B

(B) O Try your idea on a small scale, join relevant short term course (Correct Alternative)
(Chosen Option)

37 faR #1 Bl TR R clg W, e < wId A wnfre HEa (Correct Alternative)

(Chosen Option)
(C) O Workina _company
HUl T HIH PP

(D) O Joining MBA course
MBA ®I¥ T A gIhR

Question No. 19 / Question ID 705 Marks: 2.00
While thinking about learning, what are the questions you can ask yourself?
AT &S IR T Trad T 31U Ga § DI Y U IS Thd 82
(A) O Itis very tough
Ig g B &
(B) O ltis very difficult for me to understand
R foT S W 95 giRed ©
(C) O Its waste of time
Ig Y9I P1 Falc §
(D) O How can | learn and understand better? (Correct Alternative) (Chosen Option)

i R Wb J I g iR HHA b dl E’? (Correct Alternative) (Chosen Option)

Question No. 20 / Question ID 710 Marks: 2.00
If you want to apply for jobs through Naukri.com, what you will do?
g 3T Naukri.com & HTEH § FIHRET & T 3Tdad HRA1 A8 8, l 314 T HI?
(A) O Apply to all the jObS listed
Tdiag gt Aieial & g sraed &=
(B) O Select all the cities where jObS are available
3 Tt TR BT T B et NpRAT IuTH 7
(C) O Match the skills with the job description (Correct Alternative) (Chosen Option)
Tt faawor & A1y SR BT e HAr (Correct Alternative) (Chosen Option)
(D) O lIgnore the job descriptions
faaRUT IR &9 =1 &

Question No. 21 / Question ID 765 Marks: 2.00
What are some resource related problems in a workplace?
HARA W AR Geieh & THwm 1 82
(A) O Electricity
(B) O Shortage of materials and space (Correct Alternative) (Chosen Option)
AfraeT Td I Hl (Correct Alternative) (Chosen Option)




(C) O More space for less machines
S 7RIl & forg 3ifere S1g
(D) O Less operators
ST aff

Question No. 22 / Question ID 759 Marks: 2.00
As a machine operator, while working with your machining you find the machine is not working properly.
What should you do?

TP ORI TSR & U H, 30 =17 & 1Y HTH HRd T8 379 UTd § o A=A 31 I 19 71 X a1 ¢
3D T BT AMMA?
(A) O Try to find the cause and remedies for the problem to solve it (Correct Alternative) (Chosen
Option)
THJT BT HRUT 3R IV 86 B &b IUTT WIS BT YITH HT 13T (Correct Alternative)
(Chosen Option)
(B) O Blame someone for the defect
QY & foTe fasddl T aIW ¢ a1fee
(C) O Ignore it
U TUR AT A1gY
(D) O Hide the machine

AN B BTsS B o1 AT

Question No. 23 / Question ID 666 Marks: 2.00

What are green jobs?

W Siled 1 52

(A) O Jobs that conserve resources and help the environment (Correct Alternative) (Chosen
Option)
U} ST St HRATEAT BT HEUT Bl & 3R Uaiarur # Weg Feel & (Correct Alternative)
(Chosen Option)

(B) O Jobs that harm the environment
Sieq S TafeRvl &t JeHaT Ugdrdl o

(C) O Jobs that ignore waste separation and recycling
Siled Sl e YU 3R JArsfaeitt &1 srae! Rl §

(D) O Jobs shared in green colours

iTed W Her | YGTBT A

Question No. 24 / Question ID 797 Marks: 2.00
Find the Entrepreneur from the given options.

T T fashedl § J IH BT Ul T |
(A) O Cabinet Secretary

(B) O Anand Mahindra (Correct Alternative)

3¢ Afgar (Correct Alternative)

(C) O SBICEO
SBI CEO

(D) O RBI Governor (Chosen Option)
RBI TTa=R (Chosen Option)

Question No. 25 / Question ID 722 Marks: 2.00
For career growth and we need to build

HRIR MY 3R & forw gH ST BT SR &




(A) O skills, bridges
(B) O sustainability, dams
Ra, S
(C) O skills, sustainability (Chosen Option)
, ™1 (Chosen Option)
(D) O sustainability, new skills (Correct Alternative)

'RITﬁTq', B1Y IR (Correct Alternative)




